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(hwquwn npudbbpny)
Swpblwl Gandwé wwh
PjnLebunwhl Swiuubph gnpdwnwlwl nwuwlywpgdwh wyn pyntd’
Fur- | fumt pwdhbGbph, fudpbph L nwubph, hGswbu Gwl pjniobnuwghG
S:Ifhh oht | dp iy dwuubph wninbuwghnwlwl nuuwlywpgiwb hnnwdbbph ign?wffgg qunswiwt | $nGnwjht
waywbnuiGhpp i ' pjnLok pjnLpb
1 2 3 4 5 6 7 8
LcuUULELE dukluueP
00| X | X [ X (1"NN2100+11nN2200+tnnN 2300+ 2400+ 2500+ NN 2600+ 1629582.20 (756912.20 | 872670.00
ninn2700+wunn2800+w1nn2900+wnnn3000+wnnn3100)
cuULNEN fLNE3EBP IULNPUSPL
2100 o1 | o | o ounusnrE3nruuer 291937.7 | 168778.0 | 123159.7
(tinn2110+wnn2120+wnn2130+wnnn2140+wnnn2150+nnn2160+wnnn2170+w0n
nn2180)
win puniyd’
Opblunfin b gnpdwnfin Jwpdhbbbp, whnmwlhwd Gwnwdwnntd,
PhbwGuwliwl b hwplpwpnepbinwfil hwpwpbanipint GGG,
2110| 01 1 0 S S 225169.0 128099.0 | 97070.0
_ npha’ — : =
2l For e |5 B 1QuabUnl A nTORIRT IUONAUED R R L 225169.0 | 128099.0 | 97070.0
wyn pynud dwhuubkph YEpéwbnuip’ puwn pyniobinwghl dwhuubph
nbnbuwghunwlwl nuuwywngdwh hnndwébeph
Uztuwwnnnbiph wzfuwinwlwnabp L hwybpwdswnbtp 101,347.8 | 101,347.8
Muwpqlwinpnudlbp npwiwlwi lupwhuntunidbbp b hwannely
saGhD 7,896.2 7,896.2
Pwnuwpwghwlb nwnwlwi b whnwlywh Swewnnlbph 0.0 0.0
wwnglwwnpnid ! :
EGBngbwnhly dwnwjnipyniGhbp 5,500.0 5,500.0 X
UnintOw) dwnwjnipjntGGbp 700.0 700.0 X
Ywujh swnuynipntGGbp 1,676.0 1,676.0 X
Uwwhnuwgpwlwh Swhuubp 100.0 100.0
LbpphG gnpéninnidbp 100.0 100.0 X
Upinwuwhdwljwhb gnpénunnudGbp - 0.0 0.0
dwpswlwl dwnwjnipynibbbp 150.0 150.0 X
Jwiwlwngswihb dwownipntGhbp 1,981.0 1,981.0 X
Stntlhwunwlywh swrwjnipjnLGhtp 176.0 176.0 X
LbpYuwjwgnigswlwl dwhuubp 200.0 200.0 X
CGnhwhnip plnyph w)j| dwewynipjniOtip 592.0 592.0
Uwulwghunwlwh dwnwjnipyntGbp 100.0 100.0
Chlpbph L Ywnnighbph pGpwghl Gnpngnud L wwhuwwbned 930.0 930.0 X
UbpklOwibph L uwppwdnpnuiGbph pGpwghl Gnpngnud b
. 1,350.0 1,350.0 X
QnuwubljwlwihG Ojnipbip L hwgniuwn 2,010.0 2,010.0 X
SnpwluwnpuiwhG Gynipkp 2,350.0 2,350.0 X
Ytlgwnwjhl L hwGpwjhG ubbnh Gynipbip 400.0 400.0 X
SwwnnLy bwwwnwlwihu Uniptbn 500.0 500.0 X
Uj| hwpltp 0.0 0.0
TMwpunwnhp Yswnlbn 40.0 40.0 X
Chlpbph L phGnipyniGGbph Ywnnigned 0
Chlptiph L 2hGnupyniGhbnh Ywwhunwy dEpwlnpngnd 89,170.0 X 89,170.0
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PynLpbunwhl swiuubph gnpéwnwlwi nwuwlwnquiwh

wjn pyUntd’
Pw- | fun GGLnh, Gph L tiph, hGswbu Gub pjnpbunwihG
Snnh dwﬁ ¢ | Ay | PUONGGENh, fudpbinh L nuutiph, hGswbu Gwl pjnigtitnwgh DnwskGQ
h dp Swfuubiph nOwnbuwghnwlwl nwuwlwnpqiwh hnnwsGkph Y G | $nGnwhc
NN (u.7 +u.8) niwlw )
wlywhnwiGbpp pynLok pjnLpk
1 2 3 4 5 6 7 8
Spwuwnpunw)hl uwnpwynpnidutn 0.0 X 0.0
dwpswlwl vwppwdnpnidlbp 7,900.0 X 7,900.0
Lwhuwgéwhbnwanuwlwi dwhuukp 0.0 X 0
2130| 01 3 0 |Lanhwnin plniyph cwnwinipintGG6n 6,072.00 6072 0
nphg’ 0.0
2131| 01 3 1 |Uzluwunwlwaih yunptph/ qond pGnhwnep pGngph 5,769.60 5769.6 0
wyn pynid dwhuubiph depéwhnuip’ puwn pjnepbniwhG dwhuubph
Uzhuwwnnnlbph wptuwwnwywpétip b hwybwswpltn 4,907.60 4907.6
tGbpgbwnhl dwrwynipniGobip 225.0 225.0
YUnuntUwi swnwjniLenlllbn 10.0 10.0
Ywwh dwnw)nipjntGobp 73.0 73.0
Upunwagbnpwnbuswlwl dwhiukn 420.0 420.0
Uwulwghwnwlwl swnwjnipnlulbn 54.0 54.0
UbiptOwGbph L uwppwynpnidGbph pGpwghly Gnpngntd L 60.0 60.0
gntuwlwl whwnyputn 20.0 20.0
2133| 01 3 3 |CGnhwCnip pGniyph wy) dwnwjnipntGGbp 3024 302.4 0
wyn puynid dwiuutiph Jbpéwhnudp’ puwn pynigbunwght dwhuubph :
wnlbnbuwghnwlwl nwuwlwpgiwd hnnwéGhph 0.0
hwiwlwngswihG dwewjnipyniGibp 302.4 302.4
LChnhwhnin plnyph hwipuyhl 6wowimpini66bn (wy pwubphb
2160| 01 6 0 swunluiting) 60,696.7 34607.0 | 26089.65
nphg’
2161 01 5 1 CGnhwbnip pﬁmjph hwlpwjhG dwnwnipjntGGap (W) nwubphG 60,696.65 34607.0 26089.7
swwwnlwlng)
wyn pynid Swiuubiph Jepswinilp’ pun pynipbivnwght dwhuubiph
nlntuwghnwlwl nuuwlwpgdwi hnpdwébhph
Pullwihl swawnigjnlilbn 0.0 0
Jwidwlwpgswihb wnwjnipniGhbp 0.0
Stnbywwnywywh dwnuwjnipnibbbp 1,185.0 1,185.0 X
Lwnwywpswhwh swruwynipniGGtp 0.0 X
COnhwhnip pGnuyph wy| dwnwjnipniGGbp 8,480.0 8,480.0
Uwulwghnwlwh dwewynipyniGabn 3,300.0 3,300.0 X
Swwnny bwwwnwywihl Uniebn 1,900.0 1,900.0
Untpupnhwitp ng-phiwluwlwil whnwywa
Lyhpwunynipyniblbp wyy zwhniyp shbnwwlnnn 2 X
LwgdwlbpwnipintGGEphG 204 #a0.0
Ujp hwpltip 50.0 50.0 X
Twpuwnhp Yswnlbp 8,079.6 8,079.6 X
dwnpywl uwppwynpnLdubin 26,089.65 X 26089.65
SLSEUULYUL IUPUREPAF@3NFLLEDN
2400 o> ¢ ¢ {mn|1241U+Lnnr|2420+mnr|2430+u1nn2440+mnq2450+mn:12460+mnq2470+m 126,368.7 10461.5 115907.2
wyn pynLd’
2420 04 9 0 Ympunlinbunpint G, whmwnwihl inlnbuntpmntl, 1.361.5 13615 0
dlbnpunipintl L npunpnnigint
nphg’
2421| 04 2 1 |9niqwnbnbunipynil 1,361.5 1361.5 0
wyn puntd dwiuubph Jbpdwhnudp’ puwn ppnigbinwhl dwhuutph
wninbuwghnwlwb puuwlwngiwh hnndwéhbnh
Uzhuwiinnnbph waluwwnwwpdtp b hwybpwyswpGtp 1,111.5 1111.5
CUnhwlnip puntyeh wj) Swnwjnieinllltn 250.0 250
UwuGwghwnwlwh dwnwjnipjncGitip 0.0 0.0 b74
2430| 04 3 0 |Ywnrbifip b tGbpgbunplyw 1,100.0 100 1000
nphg’
2432| 04 3 2 [Lwypwipbing L plwjwl quq 1,100.0 100.0 1,000.0




RjnLptitnuw)hG Swhuutiph gnpdwnrwywi nwuwywnqiwa

wjn pyned’

Snnh Pur- | fune m PwdhGhEph, fudpbph L nwubnh, hGswbu Gwl pjniobinwhG CGnwikGp
NN ght | dp Swfuubiph ninbuwghunwlywl nwuwywnpgiwh hnndwéGhph (U.7 +u.8) Ywnswyws | $nGnuwjht
whywbnuoGepp pjnipk pintob
1 2 3 4 5 6 7 8
wyn pUntd Gwhuubiph yepéwbnudp” pun pynugbinwghl swiuutiph
nlnbuwghunwlywl nwuwlywngdwd hnnwébbph
Muwnunwnhp Yswpltn 100,0 100.0
Gblpbph L 2hGnipynLGhERh Ywenignd 0.0 X
Lwhiwgowhbnwgnuwlwh swhiubp 1,000.0 X 1000.0
2450 04 5 0 |Spwluunp; 123,007.2 8000 114907.2
nphg’
2451| 04 | 5 | 1 [SwlwwuwphwjhGnpwGuwnpn® win pndd 123,907.2 | 9000.0 | 114907.2
Ctlptiph L phGnupnillbnh pGpwghl Ybpwlnpngnud 9,000.0 9000.0
Huwnpwywl uwpgwynpnLdutn 4,500.0 4500.0
Cllptinh L 2hGntpnLlltinh wwhinw Ubpwinpngnud 110,407.2 X 110,407.2
Luwfuwgdwhbnwgnunwlwh dwhuubp 0.0 0.0
Grauuu urUdU3Nk mucSMULNFE3NEL
S & q g {mnq2510+mnn2520+u1m12530+lnnr12540+u1nr}2550+mnq2560} 86,013.7 86013.7 0
win punti’
2510 05 1 0 |Unpwhwing nnhg 74,513.7 74513.7 0
2511 05 1 1 |Unpwhwinid 74,513.7 74513.7 0.0
wyn pyntd Swhuubiph depdwlniip’ punn pynipbiviwghl dwhuubph
wnlnbuwghnwlwl nwuwlwpgiwh hnndwéGhph
UzfuwwnnnGbiph whuwwnwywpdbp b hwybpwdswpGbp 6,347.0 6,347.0 X
UnontGuw SwnwjnipiniGlbp 68,066.7 68,066.7 X
FwwnnLy bywinwywiht wy Uinpkn 100.0 100.0
UnLpuhnhus 0.0 0.0
sssol o8 " o |Grewlhw dhowduyph wusziuywinipynd (wy puubphl 11.500.0 11500 0
supurnlpwGng)
: nnhg’
2oeifiizus s gl | = i | SOS LAANSUUIIE oG Eeyn € (TGN G 11,500.0 | 11,500.0 0
: - swwwnlwbnng) e ;
wjn pyncd Swhuubtph anéwﬁnmn puw pjnigbnwhl GLuruuhnh
nlnbuwghunwlwi nwuwlhwnpgiwb hnnywétbph
UnuntGw) swnwjnipntGGhn 11,500.0 11,500.0 X
UnLpuhnhw 0.0 0.0~ X
RLULUPULUSPL ChLUPUPNFRSNIL BY UAUNFLUL
2800 [ 06 0 0 ounusnr@3antu 329,388.5 35000.0 | 294388.5
(1nnn2610+1nn2620+1nn2630+1nN2640+1nnn2650+1nn2660)
win pynud’
2610 06 1 0 |Phwlhwpwluyhl shlGwpwpnipinil - 36,334.5 | 18,000.0 | 18,334.5
nphg’
2611| 06 1 1 |PGwywpwluhG 2hGwpwpntp)nil . 36,334.45 | 18000.0 | 18334.45
wjn pynid dwiuubiph pdwbnidp’ puwn pynobiinuwghG Gwfuubph
nlnbuwghinwlywl nwuwlywpgdwl hnndwsbbph
Gllp 2hunLenLlltnh puewghl Unpngnu 18,000.0 18000.0
GGlptph L 2hGnipyniGhbiph Yuwwhwwy YEpwGnpngnd 17,014.45 17,014.45
Lwfuwgéwhbnwgnunwlwh swhuubp 1,320.0 1,320.0
2630 06 3 0 |\ Bpwiwwnwlhwmunntd 51,803.0 0 51803.0
nphg’
2631 06 3 1 |Rpwdwnwlwpwnndd 51,803.0 0 51803
wjn pynid Swiuubph dbpéwlnudp’ puwn pyneebuiwhG Swhuubph
nlwbuwghnwywi nwuwlwpgiwh hnnwsbbph
Chlgtinh L ohGnupyniG0bph Guwhwwy depwinpngnud 51,803.0 X 51,803.0
Lwhuwgéwhbuinwgnunuwlwh swhubp 0.0 X 0.0
2640| 06 4 0 |@nnnglbpf (nruunnpntd 241,251.0 | 17000.0 | 224251.0
nphg’
2641| 08 4 1 |®@nnnglbph (niuwynpnid 241,251.0 | 17000.0 | 224251.0




Rynupbunnwyhb dwhuubiph qnpéwrwlwi nwuwlwpqiwd wyn pUnid’
Puw- | funt wdhGGtph, fudpbph L nwutph, hGswbu Gwb pjnebuwhG
Snanl g | ygp | opLquSbnh ﬁu&ubﬁwnhhmzuwunm;ﬁm: ﬁwﬁprijnQQLuaGthnh COnwdtap
NN a g (u.7 +u.8) [Uwnswlwl | PnlnuyhG
Luﬁl.[u.lﬁm.liﬁhrln [_’jﬂl.?ti pjnLob
1 2 3 4 5 6 7 8
wyn pUnLd 6whuukph ybpdwlnidp® putn pynigbiuuwght gwfuubph
nlnbuwghnwlwl nuuwlwpgiwi hnnywéhbph
EGEpgbiwnhly wewjnipynLGGbn 12,000.0 12,000.0 X
Clpbinh L Ywenygltinh plpwghl Gnpngnud L wwhywbnud 5,000.0 5,000.0 X
Muwpunwnhp ydwnltn
Ctliptiph L 2h0nLpniGGbph Yuwnnignid 221,251.0 221251.0
Yuwnswlwl uwpgwynpndubn 3,000.0 X 3,000.0
Lwhuwgswhbunwgnuwlwl swhuubp 0.0 0.0
3ULahUs, UtUuNt3@ 64 urnu
2800 a8 g B {mnq2810+u1nr[2820+Lnnq2830+mnq2840+mnr12850+mnq2860) 32,984.2 31778.6 12056
w)n puntd’
2810 o8 1 0 | Jwlquinp b uynpuip SwawynipyniGGbn 3,645.6 2940.0 705.6
npha”
2811| 08 1 1 JBuwlquuip L uynpnh 6wnwynLpjntGGbp 3,645.60 2940.0 705.60
wyn pYnid Swiuubiph dbpéwinudp’ puwn pynigbiinwghG Gwfuubiph
nbnbuwghinwlwl nuuwluwngiwd hnnwébhph
Chlptiph L Ywnniygltiph pGpwghy Gnpngned L wwhuwwGntd 940.0 940.0 X
Jwwninily Gwwinwluwiht wy Gnipbp 0.0 0
Uppwlwl dwynypwihl L uynpuwihG GuwunGhp pjnethg 1,000.0 1,000.0
Ldhpwindnip)niblbp wy zwhnyp shbnwwlbnnn
YwgiwybpwnipjntGhbphh 1,000.0 1,000.0
Twnuwnhp YSwplbp 0.0 0.0
Gblp 2hunLpnlluph Ywnnigned 0.00 X 0.00
Chliptinh L 2hGnipyncGbbph Ywughuwy Ybpwhnpngnid 0.0 0.0
Luwfuwgéwhbunwgnunuwlwh dwhubp 705.6 X 705.6
2820 08 2 0 |Yewlnpuyhl SwnuynipinGGbn 27,338.6 | 26838.6 500.0
nnhg’
2821| 08 2 1 [9pwnwpwGbtp 13,438.6 12938.6 500.0
wyn pynud dwiuutiph Ybpdwlnudp™ puwn pjnugbinwihG Gwhuubph
nlnbuwghunwlwl nwuwlwpgiwh hnnywsGbph
CGnhwinip pGnuyph w)) SwnwjnipntGabn 0.0 X
[Untpuhnhwibn ng-$hGwbuwlwl wenwywo e
Ywqowybpwnipjni0GERhG 12,938.6 12,938.6 X
Ng Untpwlwl hhubwlwl Uhenglbn 500
2824| 08 2 4 UL dawlnipunhl YuqiwybpwnigyniGGbp 13,900.0 13900.0 0
wjn pUnid swhuubph dbpéwinidp’ puwn pynipbinuwghG wfuubiph
nlnbuwghnwlwl nuuwlwpqiwl hnqwébbph
COnhwbnip pGnuph wy| SwnwjnupynilGGtp 10,140.0 10140.0
fupwhunLunLd Wawynyeh plwgwilwnnid 0.0 0.0
Jwwnniy OwwinwlwihG wy) Gneekin 3,760.0 3760.0
2843| 08 4 3 JY4pniwlwl b hwuwpwlwlwG wy ownuwjnip)ntGhbp 2,000.0 2000 0
wyn puntd dwhuubph Ybpéwinudp’ puin pjneobinwyhG whuukiph 0.0
nlnbuwghunwlwl nwuwlywpgiwh hnnwaébbph '
Ldhpwwnynipynilltp wy) whnip shbunwuwGnnn
YwqoiwhbpwnipniGhbphG 2,000.0 2000
LurENrE3NHL
2900 | 09 0 0 | (wnn2910+11nn2920+11nN2930+11NM2940+NN2950+1nnN2960+11nN2970+n 727,724.7 | 389715.6 | 338009.1
nn2980)
wijn pynud’
2910l o9 1 0 LwfvwnqupngulywG b wnwippwlwl paohwineg Gnenipin G 468,076.5 | 272825.7 | 195250 8
npha’
2911 09 1 1 Jbwhuwnwpngwlwt Yppnipntl 468,076.5 | 272825.7 | 195250.8
wjn pynid Swiuubiph dbpéwinudp’ puwn pyngtinuwhG Gwhuubph
inlinbuwghinwlwl nuuwywngiwd handwseGhph
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PynigbunwhG swiuubiph gnpéwrwlwi nwuwywpgdwh

wjn pYnud’
Sirh Pw- | fumt PwdhGGERP, fudpph L nwubph, hGswbu Gwbl pjnLebiniwhG CGnwstGp
NN dhi | dp Swiuubph nlnbuwghnwlywl nwuwlwpqsws hnnywéGbph (.7 +u.8) |Uwnswliws | $nlnwshs
whywhnuiGpp pjnLob pjniok
1 2 3 5 6 7 8
|Untpuhnhwitp ng-phOwluwlwi whnwlwd
YwqiwybnwnipjnLGGENhG 272,825.7 | 272,825.7 X
Ghliptiph L 2hGnipyniGlbph Ywwhwwy Yepwinpngnid 187 027.7 X 187 027.7
dwnswlwl uwnpwdnpnidutp 5525 0 X 55250
Lwhuwgéwhbunwagnunwlwh swhuubp 2.698.1 X 2 698.1
2950/ 09 5 Lun dwrpwpnuliGbph snwuwlwnadng UppnipinG 117,194.9 | 116889.9 305.0
nphg’
2951| 09 5 {Unuwnupngwluwl nwuwhwpwlnipjntG 117,194.9 | 116889.9 | 305.0
wjn pUnid dwiuubiph epéwnidp’ puwn pynegbinuwghG éLuI'uubnh
nlnbuwghnwlywl nwuwlwpgiwd hnnwsbbph
Untpuhnhwibp ng-phiwluwlwi whnwlywh 116,889.9 | 116,889.9 X
Huipzwywl uwnpwdnpnidltn 305.0 X 305.0
2980 09 8 bYppnepynil (wyp nuubphl suwnguwing) 142,453.3 0 142453.3
nphg’
2981| 09 8 Unpnipjntl (wj| nuubphG swwinlywing) 142,453.3 0.0 142453.3
wjn pynid dwiuubiph Ubpdwbnidp’ puwn pynepbinuwghG Gwfuubph 0.0
nlnbuwghinwlwl nwuwlwpgiwl hnnwsbbph '
dwnswilwl uwnpwydnpnidutp 560.0 X 550.0
Uppwlwl dzwlnypwihb L uwynpunwihl GuwunGbp pjntetihg 0.0 0.0
Chlpbiph L phGnipyniGObph Gwuhwwy UbpwGnpngnid 141,903.3 X 141903.3
Lwhiwgswhbunwgnunwlwi dwhukn 0.0 X 0.0
unshULULYUL MUSSTULNFE3NFL
3000 | 10 0 (xinn3010+11nn3020+11nn3030+w1nn3040+1nn3050+1nn3060+nn3070+n | 20,400.0 20400.0 0
nn3080+wnnn3090)
wjn pynid’
Unghwywilywl hwennily wpinnbnpnc 666 (wy nuubphl
aor0| 10 | 7 e R L 204000 | 204000 | 0
nnhg’
071l 10 = UnghwjwlwG hwwnntly wpunnGnipyniGatp (w) nwubphG 20,400.0 20400.0 0
swwinbwlnn) .
wjn punid dwiuutiph Jtipdwinuip’ puwn pynigbinuyghG Swhuubph
wnlnbuwghnwlywh nuuwlywpgiwi hnnwaébbph-
Inunuwpludnpnipjw GuwunGp pynigbhg 2,000.0 2,000.0 X
Uy Gujwuwnbbp pjnigbihg 16,600.0 | 16,600.0 X
ULuphpwindnipyniGabn wy jwhnup shEnwwGnnn
YwglwybpwnipjniGGbphh 1,800.0 1.800.0
3100 11 0 3PULULUL PUDPLULENPL 29UU4NA MUINFUSUSHL SALAGN 14764.8 14764.8 0.0
(nnn3110)
win pyniy’
1 1
B 1 77 quwnwdwpnipw b hwduyGplGbph uwhn utnuifil pnln 14764.80 14764.8 0.0
nphg’ :
3f12| 1 1 33 hwdwjGpGbph wwhniuwnwih $nln 14,764.8 | 14,764.8 0.0
%ﬁrﬁ%{g}&u tph UGpéwanuip” putn pynigbnwihG Gwhuubph
w {mwuwuwnqﬂmﬁ hnnywdéhbph
{,ﬁlﬁﬁﬁg@&bﬂ 14,764.8 | 14,764.8 0.0
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